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The slope of a line is a ratio which is

change.

The vertical change is called the

found by dividing the vertical change by the horizontal
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The horizontal change is called the
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If a line rises from left to right, then its slope is prﬁ]%f‘ﬂ-‘-‘

If a line falls from left to right, then its slope Is
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Let's look at a few line segments with positive slope:
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1. Which line segment is the steepest? CL

2. Which line segment has the greatest slope? cD

MPM1D



Name:

Let's look the following line segments with negative slope:

Line | Rise Run
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all equal. The slopes of all line segments on a line are equal. So the

Notice that the slopes are
d using any two points on the line.

slope of a line can be foun
The slope, m, of a line containing the points P(xy, y1) and Q(xa, ¥z) 18
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that passes through C(-2,1) and

Examples:

1. Use the slope formula to find the slope of the line
D(2,7) = e
'%;%1 m:_-_j_l—-- ;_(gi__%'_ '%.
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5. Use the slope formula to find the slope of the line that passes through (-5,10) and
(2,10) Y
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3. Use the slope formula to find the slope of the line that passes through (6,1) and (6,7)
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